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Question Id : 68634012155 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634012156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T BT 1 WD & --
1. HeO-gdd
e der
 Pferd-BHA
4, A BT AR

Options :

68634048001. 1
68634048002. 2
68634048003. 3
68634048004. 4

| )

[#5]

Question Number : 2 Question Id : 68634012157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & eeam &1 yaigar! T8 § -

1. U™
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papivo}
i
4. Sfadh

Options :

68634048005. 1
68634048006. 2
68634048007. 3
68634048008. 4

L]

Question Number : 3 Question Id : 68634012158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 5 Y B4
BT R T
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e

Options :

68634048009. 1
68634048010. 2
68634048011. 3
68634048012. 4

Question Number : 4 Question Id : 68634012159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048013. 1
68634048014. 2
68634048015. 3
68634048016. 4

Question Number : 5 Question Id : 68634012160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foem o TeRFTT= 8 2
1. fagre
2. dgyd
3. dH
4. 390

Options :

68634048017. 1
68634048018. 2
68634048019. 3
68634048020. 4

Question Id : 68634012155 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634012156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T BT 1 WD & --
1. HeO-gdd
e der
 Pferd-BHA
4, A BT AR

Options :

68634048001. 1
68634048002. 2
68634048003. 3
68634048004. 4

| )

[#5]

Question Number : 2 Question Id : 68634012157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048005. 1
68634048006. 2
68634048007. 3
68634048008. 4
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Question Number : 3 Question Id : 68634012158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BT R T
 SATETIRIE T TR
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Options :

68634048009. 1
68634048010. 2
68634048011. 3
68634048012. 4

Question Number : 4 Question Id : 68634012159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A fagTmadl
B. A

c.f g
D. faafifq
E. Jford
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[

.C,A.B,D.E
3.B,D.C,A.E
4 B.D.A.C.E

Options :

68634048013. 1
68634048014. 2
68634048015. 3
68634048016. 4

Question Number : 5 Question Id : 68634012160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fadm fPa TPR ST I=§ 2
1. facmrs
2. gy
3.dHH
4. ST
Options :
68634048017. 1
68634048018. 2

68634048019. 3
68634048020. 4

Sub-Section Number : 2
Sub-Section Id : 686340402
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634012161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT T, ST O BT e o
1. giRIRTd 1 &g
2. H FHUl W S GRS

3. feamaT 9gd A1 W SR A 8H1
4. U B H S =81 T8l

Options :

68634048021. 1
68634048022. 2
68634048023. 3
68634048024. 4

Question Number : 6 Question Id : 68634012161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT T, ST O BT e o
1. giRIRTd 1 &g
2. H Tl W S GRS

3. Te@TaT 95d 1 R OR A 81
4. H D H 4 31 81

Options :

68634048021. 1
68634048022. 2
68634048023. 3
68634048024. 4

Question Number : 7 Question Id : 68634012162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad 5 4 21 3 vea § yg T 9S1 8

1. PRP

%



Options :

68634048025. 1
68634048026. 2
68634048027. 3
68634048028. 4

Question Number : 7 Question Id : 68634012162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad 5 4 21 3 vea § yg T 9S1 8

1. PRP

| )

YA
SR
4. FER

Options :

68634048025. 1
68634048026. 2
68634048027. 3
68634048028. 4
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Question Number : 8 Question Id : 68634012163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRdg gRY= &1 A fba ad gan 2

1.?[7‘[184?
2.9 1855
3.3517‘[185{)
4.3'_‘[1885

Options :

68634048029. 1

68634048030. 2

68634048031. 3
68634048032. 4

Question Number : 8 Question Id : 68634012163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR BRY= &1 o4 [ ay gan 2

1. 9 1847
2. 9-11855
3.9 1850
4.9 1885

Options :

68634048029. 1

68634048030. 2

68634048031. 3
68634048032. 4

Question Number : 9 Question Id : 68634012164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEREY DI g ol ga Ul 2
1. HITgX

[

. eleddRI

3. VARG

4. FREde

Options :

68634048033. 1
68634048034. 2
68634048035. 3
68634048036. 4

Question Number : 9 Question Id : 68634012164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. dedRT



Options :

68634048033. 1
68634048034 2
68634048035. 3
68634048036. 4

Question Number : 10 Question Id : 68634012165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad § qag v T 8 2
1. Al

3y
TEd
4. 3{TIBT

Options :

68634048037. 1
68634048038. 2
68634048039. 3
68634048040. 4
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Question Number : 10 Question Id : 68634012165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad # ooy T T 8 2
1. Al

3y
TEd
4. 3{TIBT

Options :

68634048037. 1
68634048038. 2
68634048039. 3
68634048040. 4
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L

Question Number : 11 Question Id : 68634012166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



25 BT B T BATH. 72% B9 G § T Wad ¢ | {hds o Ta § 4FT a1 99=< 8] 3d 2

1.5

|
O

4 8

Options :

68634048041. 1
68634048042. 2
68634048043. 3
68634048044. 4

Question Number : 11 Question Id : 68634012166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 BTH B UD DETH, 72% B Wd & = 36d ¢ | [od- 93 ©d § HHT a1 98- gl d3d 2

1.5

| )
[

4 8

Options :

68634048041. 1
68634048042. 2
68634048043. 3
68634048044. 4

Question Number : 12 Question Id : 68634012167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I X3l & A | SUId 2:3 & 9U1 3 YR i T H 3FUId 1:2 8 | 37! SHalg H U 6 :

1.8:3

|

. 4:3
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. 3:8

4. 34

L %]

Options :
68634048045. 1
68634048046. 2



68634048047. 3
68634048048. 4

Question Number : 12 Question Id : 68634012167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I Xl & A H UM 2:3 § GUT 30 YR Bt 1§ SFU1d 1:2 8 | 3791 SHals § 3Ua 6 -
1.8:3

2.4:3

L#N]

. 3:8

4. 34
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Options :

68634048045. 1
68634048046. 2
68634048047. 3
68634048048. 4

Question Number : 13 Question Id : 68634012168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

722,500 A TR 18 A1 & AU 8% a1t 1 = U I gl o016l T1d B2 AlS &4Ts B MU Wi S: ARl
glal 81 | ( FPead 2 9@ 98l)

1. 2750

| o

. 2792
3. 2809
4. 2852

Options :

68634048049. 1
68634048050. 2
68634048051. 3
68634048052. 4

Question Number : 13 Question Id : 68634012168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BIdl 81 | ( Fidcad 2 9@ 9el)

1. 2750

| B
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3. 2809
4. 2852

Options :

68634048049. 1
68634048050. 2
68634048051. 3
68634048052. 4

Question Number : 14 Question Id : 68634012169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 3EHN 15 Raufus sl & 6 TG B X g@d ¢ | 58 &1 &I U 1T 100 TG S S IHhar s | U @il
SYFH Pl fhad R T R Idi e 2

190G H
2 125l d
3,150 el
4. 225 d
Options :
68634048053. 1
68634048054, 2

68634048055. 3
68634048056. 4

Question Number : 14 Question Id : 68634012169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.oofeaid
2 125l d
3,150 el
4. 225 d
Options :
68634048053. 1
68634048054, 2

68634048055. 3
68634048056. 4

Question Number : 15 Question Id : 68634012170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G ABT4/5 =BBI60% = CBI0.750 ABCH:

1. 4:5:6

b

1:4:5

(5]

. 15:20:16
4.16:12:15

Options :

68634048057. 1
68634048058. 2
68634048059. 3
68634048060. 4

Question Number : 15 Question Id : 68634012170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G ABT4/5 =BBI60% = CBI0.750 ABCH:

1. 4:5:6

L

1:4:5
3.15:20:16
A4 16:12:15

Options :



68634048057 1
68634048058. 2
68634048059. 3
68634048060. 4

Question Number : 16 Question Id : 68634012171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Y-

Pig A. Bl &
PEB.Co
gfic.p?
ey .
LPTADE
.94 B.D®
1. Pad I 38R0 HRT &
2. &ad 11 38R0 Hdl §
3.1 3R 11 38R0 Hedl §
4. TS 11 FERUPA &
Options :
63634048061. 1
68634048062. 2

68634048063. 3
68634048064. 4

Question Number : 16 Question Id : 68634012171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y
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fep .
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Options :
68634048061. 1
68634048062. 2

68634048063. 3
68634048064. 4

Question Number : 17 Question Id : 68634012172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUT . 5. B T Hedl 8 - T IR MUS! 0 a1 ot Sifg (e fed ooy staex 3
2G| GIEIY

JAYRONY : 1 : FOTo STaex, R STaex 3T 3 50T - § ifie G 8 &
11: Y, Afid R W U5 B GaTe 76l G|

1. 1% Faa gdyron 1 Siatiia g
2. 9fe Faw QRO 1 affEa &
3. O A qdurRon 1 styarn SfaffEa @
4. fe gAYRUN T 3R 11 &I Sidi-lgd 8

Options :

68634048065. 1

68634048066. 2
68634048067. 3



68634048068. 4

Question Number : 17 Question Id : 68634012172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYT: g, BV Y Hedl 6 - U IR UB] 3Y- [Ua1 Bl &g (GLi&on) fedl vy siex 4
FHaFl F1lgy
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1. IfE Haq qaeRuN 1 3faffed &
2. 9 Faw [EuUROT 1 3aFfEa &
3. afg ardl gduRon 1 styarn SiafEa
4. TfE QYR 1 3R 11 AT SfaffEa ©

Options :

68634048065. 1

68634048066. 2

68634048067. 3
68634048068. 4

Question Number : 18 Question Id : 68634012173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y Ud §1§ 5[Sdl 6. 1. 919 $I g6 o | o, JH &1 Ufd §, T&H] G &1 AT © | o= A&H ST Ui ©
oI, Io ¥ g TR 9 gEfid 8 2
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Options :

68634048069. 1
68634048070. 2
68634048071. 3
68634048072. 4

Question Number : 18 Question Id : 68634012173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048069. 1
68634048070. 2
68634048071. 3
68634048072. 4

Question Number : 19 Question Id : 68634012174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(?) & o103 Wsg D1 AU - & SHT 3R FHH Yde & &Y § 3@ 10 2
TR : G4 R - X : 2
1. féor
2. Gfémr-ufgy

3. I -uiEgH

4. 3«

Options :

68634048073. 1
68634048074. 2
68634048075. 3
68634048076. 4

Question Number : 19 Question Id : 68634012174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(7) & 10 39 Teg I IFT S - & ST 3R FHH a9 & &9 H T@T o0 2
IR : I&ULOYE - R - ?

1. G

2. cfamr-afas

3. I -ufEH

4. IR

Options :

68634048073. 1
68634048074. 2
68634048075. 3
68634048076. 4

Question Number : 20 Question Id : 68634012175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TS AR $1 304 0= ¥ 99 B S0 g2 @l 10 fasHio g fgun o g o 1 sisdl 6. R
a8 3 HTa-Tar ¥ e St €, 511 % ¥ 15 favtiio ufEm 1 3gd 8. R a8 Sus @iig- & i uie
TR & Ol € off o 393 ATa1-far & 9= 9 40 feite SwR T fua § | 9 iR Ras I e uiemn
5 Wil § | 98 &0 g 4. ol IR ¥ 25 fdhHio Ra &1 ok [Rua 7. ofd & ag 30 failo glérr fa=m
@ U1 R U 21 Jgaal & | §eio Dol IR RRUYd &2

1. TR 4 10 feorito g

| )

. THd 9 10 fbrio IR

. IHd ¥ 10 fhrlo R
4, TR 9 10 fortiio ufgm

Options :

68634048077. 1
68634048078. 2
68634048079. 3
68634048080. 4

L

Question Number : 20 Question Id : 68634012175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I TS AR $1 304 0= ¥ 99 B S0 g2 @l 10 fasHio g fgun o g o 1 sisdl 6. R
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@ YT PR U g1 Jeaail & | §eio Pel IR Ryd &2

1. TR ¥ 10 friio R

[

pd ¥ 10 febelo T

. IHd 9 10 fhrito g
4, TR 9 10 foptiio uigm

Options :

68634048077. 1
68634048078. 2
68634048079. 3
68634048080. 4

L]

Question Number : 21 Question Id : 68634012176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HGel-d & B! b Ul dp A ' [HTH s JieHl ' & Sdiid TS USRIEE & 1Y FISiER] [l 5

1. OoTE “RAA 8§ F

PRIdP
4, YRJG T dF

Options :

68634048081 1

68634048082. 2

68634048083. 3
68634048084. 4

[

L]

Question Number : 21 Question Id : 68634012176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IdsT® & 31 B Il d 3+ e g dierr & 3idvid Toe TSRIEE & 1y ger
1. U978 99 8§
PRI dF
4. YR ®e 9%
Options :
68634048081 1
68634048082. 2

68634048083. 3
68634048084. 4

[

L]

Question Number : 22 Question Id : 68634012177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST 1 (RAaTSt @17 ) LIST 11 (&)
A [Hded oiH 1 [glehl
B. [disi rpe i CIESD
C. [&10 TY U] II1. [Bd3s
D. [3¥RusH= IV [¢ad 249
- fau e faweyl O 9 98l ST &1 99 Bifv ;

1. A-IV. B-II. C-I, D-III

[ ]

AL B-IV. C-11, D-1
3. A-IL B-IV., C-1, D-II
4. A-II1. B-IV. C-I. D-II

Options :

68634048085. 1
68634048086. 2
68634048087. 3
68634048088. 4

Question Number : 22 Question Id : 68634012177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Re@TSt &1 ) LIST II (8)
A [Hoed TRH 1 [gihl
B. [disl e 1. [STeE
C. [ UY Uad] II1. [2iddal
D. [3¥RusH= IV [¢ad 249
- fau e faweyl O 9 98l ST &1 99 Bifv ;

1. A-IV. B-II. C-I, D-III

[ ]

CA-ILL B-TV. C-I1. D-1
3. A-IL B-IV, C-1, D-1I
4. A-IIL. B-IV. C-1. D-1I

Options :

68634048085. 1

68634048086. 2

68634048087. 3
68634048088. 4

Question Number : 23 Question Id : 68634012178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TRPR B 9921 o Fafeiea & 3 g 3 ddfda &
1. T S

. IR UIh 0

.ot 4t uel gRaRi &1 S

fEE em

Options :

68634048089. 1

68634048090. 2

68634048091. 3
68634048092. 4

[
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Question Number : 23 Question Id : 68634012178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR IRBR &1 T3 Tior Hefafad 8 3 feg I dafia

1. oy dfdem
2. GTE] T
3. ot 4t uel gRaR] &1 S
4. S &7

Options :

68634048089. 1

68634048090. 2

68634048091. 3
68634048092. 4

Question Number : 24 Question Id : 68634012179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEEACRIC AT [
HYTL: 20 5ol Y 20,000 ool & HH B it HET dTell @1 a1 TR-9e8 a1 Dealdl o
®Y I1: 20,000 §Col Y AU 3M1gfed el @ a1 YRIYed a¥il Poaril o

SIRIT FYAI & e 1. F4 5y T fosedl ¥ 4 gas Sugad IR &1 997 S
1. BYTI IR PUT I H Tal

DY IR DY I I Tdd §

3. Y1 FEl 5. ifch Y 11 7Ted &

4. FYT A 8. AFT I I S

[ ]

Options :

68634048093. 1
68634048094. 2
68634048095. 3
68634048096. 4

Question Number : 24 Question Id : 68634012179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HYTL: 20 T F 20,000 T P A BT Hgfed ST arelt et a0 TR-e a8 peardl &
HYA I1: 20,000 TCol Y TS 31gfcd ATl @G T gIYe a¥il Foand o

SIRIT FYAI & e 1. F4 5y T fosedl ¥ 4 gas Sugad IR &1 997 S
1. BYTI IR PUT I H Tal

DY IR DY I I Tdd §

3. Y1 FEl 5. ifch Y 11 7Ted &

4. FYT A 8. AFT I I S

[ ]

Options :

68634048093. 1
68634048094. 2
68634048095. 3
68634048096. 4

Question Number : 25 Question Id : 68634012180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
" HeTad HiY SHawT (UUI)" i TS 3T fhad gRIdl 7d! ot 2
1. TS Sagieit
2. TS et
3.8 PHaNH
4. 1S HoiA

Options :

68634048097. 1
68634048098. 2
68634048099. 3
68634048100. 4

Question Number : 25 Question Id : 68634012180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



" HeTae 1Y AT (HUITCl)" B B 3H1d fhdd gRI a1 7t o 2
1. TS Sagieit
2. TS et
3.8 PHaNH
4. 1S HoiA

Options :

68634048097. 1
68634048098. 2
68634048099. 3
68634048100. 4

Part B: Environmental Sciences

Section Id : 686340242
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340403
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634012181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following developed the Gaia Hypothesis.

1. E. S. Rowland
2. Mario Moling
3. James E. Lovelock
4, William Golding

Options :

68634048101. 1

68634048102. 2

68634048103. 3
68634048104. 4



Question Number : 26 Question Id : 68634012181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freiferd o 9 foegi=l TTSaT SaURuT &1 R e o1 of 2
1.5 TH.Ids
2. AR T

3. O S, dadld
4. Tafergg mifesT

Options :

68634048101. 1
68634048102. 2
68634048103. 3
68634048104. 4

Question Number : 27 Question Id : 68634012182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following mineral has a single chain structure?

1. Olivine

| )

. Quartz

LF¥]

. Pyroxene
4. Amphibole

Options :

68634048105. 1
68634048106. 2
68634048107. 3
68634048108. 4

Question Number : 27 Question Id : 68634012182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafeRad o ¥ 59 @fe @1 tea §@ar SaF sidl 82
1. 3ffefdE

Options :

68634048105. 1
68634048106. 2
68634048107. 3
68634048108. 4

Question Number : 28 Question Id : 68634012183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Gondwana coals formed during-

1. Precambrian

2. Cambrian

L]

. Permian
4. Tertiary
Options :
68634048109. 1
68634048110. 2

68634048111. 3
68634048112. 4

Question Number : 28 Question Id : 68634012183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TiSar Sigar FafatEd o 9 feue aRE &
1. Wi-Srafa=

Hrana

Tftfe

4. TG

Options :
68634048109. 1

| )

[FN]



68634048110. 2
68634048111. 3
68634048112. 4

Question Number : 29 Question Id : 68634012184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following may occur on the abyssal plain, below the carbonate compensation depth?
1. Calcium Carbonate shells
2. Silica ooze

3. Silica ooze and calecium carbonate shells

4, Neither silica ooze nor calcium carbonate shells

Options :

68634048113. 1
68634048114. 2
68634048115. 3
68634048116. 4

Question Number : 29 Question Id : 68634012184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FIEHc UideR TeRE & A g gagt v § Fgifsa S S s ufed gl 9@ai g
1. BIeRH BraiHe ey
foferer S
Tt &9 SR Sickry Brae e
A i Rferept 3o A 81 Siekrgs drdi-e e

| )

L
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Options :

68634048113. 1
68634048114. 2
68634048115. 3
68634048116. 4

Question Number : 30 Question Id : 68634012185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A Meanders I. |Glaciers
B. [U-shaped valleys| I1. |lakes
C. |Solution sinks | ITI. [River
D. |Alkal: flats IV, |Groundwater

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV. D-II

| ]

AL B-IV. C-11, D-1
3. A-IV, B-IIL C-II D-I
4. A-I1. B-1II1, C-IV. D-I

Options :

68634048117. 1
68634048118. 2
68634048119. 3
68634048120. 4

Question Number : 30 Question Id : 68634012185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
gl 1 T 1
A. [gHEER 1. [TWRER (G513
B. [2-31®R @i wifeg] 1L [hid
C. [[da9 $U 11 [{et
D. g gada® | IV [Yod

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-III. B-1. C-IV. D-II

| o

AL B-IV. C-I1. D-1
3. A-IV. B-III. C-II. D-I
4. A-I1. B-III. C-IV. D-I

Options :

68634048117. 1
68634048118. 2
68634048119. 3
68634048120. 4



Question Number : 31 Question Id : 68634012186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Continental crust subducts under oceanic crust.
Statement IT : Island ares form due to ocean continent convergence.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I 1s false but Statement IT is true
Options :
68634048121. 1
68634048122. 2

68634048123.3
68634048124. 4

Question Number : 31 Question Id : 68634012186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ECARICA TR

HY I HETE UG TR HENIFRIY URd & =i (9<ared gidl g

BT IL: GIY & 919 1 10 HERIFR Helidi SR & SR §ldl & |

Sudad B $ 3faie 4, - AU 1 fase & ¥ 9ad 30 IR &1 944 HITot;
1. Y1 3R 11 T TET §

2. HYTI AR I S Tad &
3. YT I Tel 8. AfpT HYF 1 Tad §
4. BYT 17T0d &, AipT PUT I Tl ©

Options :

68634048121. 1
68634048122. 2
68634048123. 3
68634048124. 4



Question Number : 32 Question Id : 68634012187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : There have been seven periods of mass extinctions in the earth's geological history.

Statement IT : The current rate of extinction of species 1s 1.000 to 10,000 times higher than the background rate
of extinction.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement I are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I 1s incorrect but Statement II 1s correct
Options :
68634048125. 1
68634048126. 2

68634048127. 3
68634048128. 4

Question Number : 32 Question Id : 68634012187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 1. 7l & -1 Sfoer & 9fee f[aeie &f 9rd Sraaiy 8 8
EWI%%@maﬁﬁqg@aﬁwﬁwﬁﬁ$ﬁrﬁaﬁﬁaﬁmﬁa 1000 ¥ 10000 70T
R

Sudad HuF $ 3fale 4, -9 AU 1 faee & ¥ 9aY 309 3R &1 994 HITot:
1. B 1 AR IS el §

2. HYTI AR I S Tad &
3. FYTI9el 8. AP HUT 1 Tad §
4. BYT 17T0d &, Wb PUT I Tl ©

Options :

68634048125. 1
68634048126. 2
68634048127. 3
68634048128. 4



Question Number : 33 Question Id : 68634012188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following minerals weather and provide K™ ions to groundwater?

A Pyroxene
B. Biotite

C. Plagioclase
D. Onthoclare

Choose the correct answer from the options given below:

1. A.B. Conly

| B

.B. C.D only
3.B and D only

4. C and D only

Options :

68634048129. 1
68634048130. 2
68634048131. 3
68634048132. 4

Question Number : 33 Question Id : 68634012188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafaa o 9 foa wall & siuem & SRS 0 KT W 8idl o

e fau ¢ fdeedl § 9 g6l SR T

1. PGAA.B.C
2. $ddB.C.D
3. HIAB ARD
4. HBIAC ARD

Options :

68634048129, 1

68634048130. 2

68634048131. 3
68634048132. 4



Question Number : 34 Question Id : 68634012189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : The average composition of atmosphere near the surface of the earth is approximately 78.08% of
2. 20.95% of O,. 0.93% of Ar., 0.04% of CO, . adds to nearly 100%.

Reason R : Water content in atmosphere is variable ranging from < 0.5% to 3.5% therefore. the average
composition 18 given on dry weight percent basis (mixing ratio).

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s not the correct explanation of A
3. A s true but R 1s false

4, A is false but R is true

Options :

68634048133. 1
68634048134. 2
68634048135. 3
68634048136. 4

Question Number : 34 Question Id : 68634012189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I gl By fGu U . U NSy (A) 3R BRI (R) fau MU §1

@Y A: gudl &1 Ul & THIY arHSd (AdIarun) S SiEd TRaH1 H 78.08% of N5, 20.95% of O,
0.93% 3, 0.04% PTa-1 SIS HFIZS Bl & AR 51 G TR 7141 § AR ST 100% BIdT 5 |

HRUIR : THSH (GTATER0N) H O B JEAT < 0.5% I TP 3.5% & 4o & gRad olal ol 59 o, a
A Y YR a9 SR 0= (A s & < S g

Sudad B $ 3faie 4, -1 fGU 1 fasei & 3 981 3R &1 9979 St
1. A 3R R &I 98I § SIRR. A B Tg| ARAT &

A 3R R ST el € iR R, A &1 U curs A8l ©
ATS e APIR AR
4. ATAd g AfPTR TR B

-2

LFN]

Options :



68634048133. 1
68634048134. 2
68634048135. 3
68634048136. 4

Question Number : 35 Question Id : 68634012190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which layer of the atmosphere reflects back the radio waves that are transmitted from the earth?

—_

. Troposphere

2. Stratosphere

Lad

. Tonosphere
4. Mesosphere

Options :

68634048137. 1
68634048138. 2
68634048139. 3
68634048140. 4

Question Number : 35 Question Id : 68634012190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
agHSd $I DI I IRd Judl ¥ ORI ASa a0 oI O WRIakid $Ral 67

1. &Y J8d

| )

gAY #5d

O HEd

L

4. g Had

Options :

68634048137. 1
68634048138. 2
68634048139. 3
68634048140. 4

Question Number : 36 Question Id : 68634012191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following does not form scales in water pipes of boilers or water cooling systems?

1. Caleium carbonate

[

. Calcium sulfate

L]

. Bartum sulfate

4. Sodium chloride

Options :

68634048141. 1
68634048142. 2
68634048143. 3
68634048144. 4

Question Number : 36 Question Id : 68634012191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fifed o 9 (oo diaeR ar oid U=l Wone! (a1ex Sici ReH) ¥ 2ed &1 (HEir gl gidl o -
1. By FEMHT
e Tehe
s gdbe

 fETH RS S

Options :

68634048141. 1
68634048142. 2
68634048143. 3
68634048144. 4

| ]

s

e

Question Number : 37 Question Id : 68634012192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : Nuclear fusion occurs more rapidly in hydrogen bomb explosion. and occur continually in the
Sun. releasing energy essential for the life on the carth.

Reason R : Nuclear reaction of less massive nuclei coming together to form less stable and more massive
nuclei 1s referred as nuelear fusion.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R is not the correct explanation of A
3. A 1s true but R is false

4. A is false but R 1is true

Options :

68634048145. 1
68634048146. 2
68634048147. 3
68634048148. 4

Question Number : 37 Question Id : 68634012192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 YA U U B, T HIHYUT (Assertion A) B 9 1 [1RET 8 1 GER1 IUDb PRI (Reason R)& T
b

HIIHYT A: AMYST Hea- gIggior o faehie I sUaTdd e doit 9 9fed giar g SR 3o o
TR °fed ia1 § fore Hoaey 594 Y@l W oiad & [0 Sard Soll 3ad sidl o

BRI R: UETHT 7 T Biad! & ANHSE AT T Y 51 & Gawaey o Wil 3R st
R[A B! B A0 gIdT © ford AN F Herd Hel ordl 5|
e uF $ 3fTare 1, 9 AU T fasedl # ¥ 9y 39ga 3R &1 994 SIfo;

1LAJRREATEI & AR R AT Tl A &

2. A SR R EHI U2l § SIRR. A P el & el &
LATEIEAPIR oA
4 ATOAE APTR TG R

Options :

68634048145. 1
68634048146. 2
68634048147. 3
68634048148. 4



Question Number : 38 Question Id : 68634012193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : Stability of most complexes with the alkaline earth metals is in the order Mg®™ > Ca®™ = §r% =
A
Ba“

Reason R :For type A 1ons, Electrostatic model approximately explain the stability of metal-ligand complexes

that is. stability of these complexes is positively correlated with the ratio of Z%/r for both metal ion and the
ligand species.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

b2

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634048149. 1
68634048150. 2
68634048151. 3
68634048152. 4

Question Number : 38 Question Id : 68634012193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 U AU 70 §, UF AU (Assertion A) P $U T [IRET § O GIRT SHP BRI (Reason R)d ¥
T
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£ gty &1 Wdar 4@ 319 d Ty uiid & 22/ S07d & 91y 4-d® &9 Y 989G ol o
Sudad B $ 3faie 5, - AU 1 faee & ¥ 9as 30 3R @1 994 HITot:

1. A 3R R S T8l & 3R R. A B! gl oI ©

2
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L

ATS e APTIR A ®
4 ATAd S AfPIR TG B

Options :

68634048149. 1
68634048150. 2
68634048151. 3
68634048152. 4

Question Number : 39 Question Id : 68634012194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of following species is not a proton accepter in natural waters?

L. B (OH)F

[ ]

. [H; Si0,71°

3.AP
4. [HPO,J*

Options :

68634048153. 1
68634048154. 2
68634048155. 3
68634048156. 4

Question Number : 39 Question Id : 68634012194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeiad 7 | o 9 yorf Wi ofd ¥ HieH WihRe T8l & -

L. B (OH)f

| ]

. [H; Si0,T°
CW Y i

4. [HPO4]*~

Options :

68634048153. 1
68634048154. 2
68634048155. 3
68634048156. 4

Question Number : 40 Question Id : 68634012195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the concentration of ammonium ions (NH, ) in moles per litre units in a solution having 10 ppm

of ammeonium ions?

1. 10 moles/litre

| B

.~ 5.56 x10~" moles/litre
3. ~ 1.8 x10™ moles/litre

4. ~ 5.56 x10~° moles/litre

Options :

68634048157. 1
68634048158. 2
68634048159. 3
68634048160. 4

Question Number : 40 Question Id : 68634012195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 ppm HHITH 14 gad faea= § STy 3@ (NH, ™) &1 Hisdl (Hid Ufd offex §) S ghm 2
1. 10 GIe Ufdeilex

.~ 5.56 x10~* TIeT Hddicx

3. ~ 1.8 x1072 TIe Hfdciiex

4. ~ 5.56 x107> O Ufddiic?

Options :

68634048157. 1
68634048158. 2
68634048159. 3
68634048160. 4

| ]

Question Number : 41 Question Id : 68634012196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Solubility of gases (e.g oxygen in atmosphere) m liquid (e.g water in a river) i1s best explained by -

1. Distribution law

]

2. Freundlich Isotherm

LF¥]

. Equilibrium law
4. Henry's law

Options :

68634048161. 1
68634048162. 2
68634048163. 3
68634048164. 4

Question Number : 41 Question Id : 68634012196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%d (3aIeRunY Ad] &1 o) U 14l (G160 & dR U arHsd 31 Hwier) 3! f[qaadr &1 gaiad sara]
frafafea & 3 foad gri gl aadl & -

1. faaqrur &1 gy

Thelv® 99d/™
= fFam
4. 5N @1 FgH

| )
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Options :

68634048161. 1
68634048162. 2
68634048163. 3
68634048164. 4

Question Number : 42 Question Id : 68634012197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Soil Horizon) (Characteristics/Nature)
A |A Horizon I. |Zone of eluviation
E. |E Horizon II. [Unweathered mineral material
E i Hriaon 1L Surface honzo_n with mmg‘gl material and organic
compound bevond recognition
D. |C Horizon IV. |Zone of illuviation

Choose the correct answer from the options given below:

1. A-IV. B-III. C-1. D-I1
2. A-ILL B-1. C-IV. D-II
3. A-IIL B-IV. C-1. D-1I
4. A-IIIL B-1. C-IV. D-II

Options :

68634048165. 1

68634048166. 2

68634048167. 3
68634048168. 4

Question Number : 42 Question Id : 68634012197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

1 T I
A |ATR I |30 &F
B [E=R 1. |3{9Za-eld Wil T
C. BT 111 [@i-el 9l R T89H | T @l H® day @ 91y 9del @y
D. [c TR V. [geareT &3
fFrafead [aeedl § I 98l IR &1 90 Sl :

1. A-IV. B-III. C-1. D-II
2. AL B-1. C-IV. D-II
3. A-IIL B-IV. C-1. D-II
4. A-I1. B-1. C-IV. D-II

Options :

68634048165. 1
68634048166. 2
68634048167. 3
68634048168. 4

Question Number : 43 Question Id : 68634012198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What would be the approximate kinetic energy of a piece of rock. weighing 1 kg. just before it hits the earth's
surface from a height of 20 meters?

1.507

| )

1007
3.2007
4.4007]

Options :

68634048169. 1
68634048170. 2
68634048171. 3
68634048172. 4

Question Number : 43 Question Id : 68634012198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 T YR aTc UTuI0l & ¢ @i 20 Hie &1 $dTs o 9edl & J¥ URI ¢ 4 31 gd e 7Tis]
Sl fda g

1. 50 el
2. 100 9cd
3. 200 et
4. 400 et
Options :
68634048169. 1
68634048170. 2

68634048171. 3
68634048172. 4

Question Number : 44 Question Id : 68634012199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A light ray entering at an angle 61 from the normal into a new material with a faster speed

1. does not change its direction with respect to normal

b2

. 18 refracted away from the normal
3. 1s refracted toward the normal
4. travel along the normal

Options :

68634048173. 1

68634048174. 2

68634048175. 3
68634048176. 4

Question Number : 44 Question Id : 68634012199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048173. 1
68634048174. 2
68634048175. 3
68634048176. 4

Question Number : 45 Question Id : 68634012200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A population of genetically identical cells sharing a particular resources within an ecological riche is called -
1. Prototype
2. Ecotype
3. Serotype
4. Genotype

Options :

68634048177. 1
68634048178. 2
68634048179. 3
68634048180. 4

Question Number : 45 Question Id : 68634012200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepit TiRfRufaep g Ty 71d & fiaR oA 9 ¥ T SIRSTE are! S-we] o {2y HHreH 9
Pl 8. T Hoeal! e-

31 UR=Y (WICICIgY)
golerzd (TRfufde! e
 ARIeEy (@A UR=)
 SiHTETgY (SfiF UR=Y)

Options :

68634048177. 1
68634048178. 2
68634048179. 3
68634048180. 4

—

[

L]

e

Question Number : 46 Question Id : 68634012201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sexual reproduction -

A. involves the formation and fusion of gametes

B. 15 a simple and faster process as compared to asexual reproduction
C. forms zygote

D. results in offspring that are referred to as clones

E. is seen in flowing plants

Choose the most appropriate answer from the options given below :

1. A B. & E only

[ ]

A, C&E only
3.B.C & D only
4. A D&E only

Options :

68634048181. 1

68634048182. 2

68634048183. 3
68634048184. 4

Question Number : 46 Question Id : 68634012201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e g o aled -

A 39 TS| B (HI0T AR Jaa M g
B. g Sl U= &1 o1 4 1EH 3R did &= fohan g
C. T8 TS (zygote) TG G|
D. 3UH Wd Tdld (offspring) B T P A1 I S A1l & |
E. 7% gitg gt & <1 Sl B
i< feu e faeedl & 9 95 SR -0 -
1. %A A, B. 3R E
2. HAAA. C ARE
3.®dd B, CARD

4. BAAA. D ARE

Options :

68634048181. 1
68634048182. 2
68634048183. 3
68634048184. 4



Question Number : 47 Question Id : 68634012202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The key reaction catalysed by ribosomes for the formation of a peptide bond between two amino acids, 1s
referred to as -

1. Ribosylase reaction
2. Peptidylase reaction
3. Ribosyltransferase reaction
4. Peptidyltransferace reaction
Options :
68634048185. 1
68634048186. 2

68634048187. 3
68634048188. 4

Question Number : 47 Question Id : 68634012202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST gRI dmgd OE@yyl Hfifdar o g1 el 3ie & Ty UpTes a9 o 0 gl o
aﬁEE”EE :

RTgaIeTge HHfehar
UUTSIgaS fufdal
TSaITeU el Sfifemar
4. TSR ACaph ol Affea

—

[
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Options :

68634048185. 1
68634048186. 2
68634048187. 3
68634048188. 4

Question Number : 48 Question Id : 68634012203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LIST1I LISTII

{Moleculer Process) | (Molecule Involve)
DNA Replication] I [RNA Polymerase]
Transcription II. [RNA

Protein folding | 1T [DNA Gyrase
Translation IV, [Chaperones

REE

Choose the correct answer from the options given below:

1. A-IV. B-I, C-II, D-III

[ ]

. A-IL B-III. C-IV, D-1
3. A-TV, B-TII. C-I1, D-I
4, A-II1. B-1. C-IV. D-II

Options :

68634048189. 1
68634048190. 2
68634048191. 3
68634048192. 4

Question Number : 48 Question Id : 68634012203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 =t 1 9 e Sifen

T 1 T I
A [Situdiasid] 1 [6R T3 U giier)
B. [ufdcaH I PRI IRTT
C. MidHaed | 1L Bl uaumsds
D. [BHaR V. [J0A

frafatad foweat § I 98t SR &1 997 S«

1. A-IV. B-I. C-II, D-III

|

. A-ILL B-II1. C-IV, D-1
3. A-IV, B-IIL. C-II D-I
4. A-I11, B-1, C-IV. D-II

Options :

68634048189. 1
68634048190. 2
68634048191. 3
68634048192. 4



Question Number : 49 Question Id : 68634012204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The method in which recombinant DNA is directly injected into the nucleus of an animal cell 18 known as :
1. Transformation
2. Transtection
3. Micro-injection
4. Gene marking

Options :

68634048193. 1
68634048194. 2
68634048195. 3
68634048196. 4

Question Number : 49 Question Id : 68634012204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁm@m?mqwmﬁwwﬁﬁﬁmﬁ&mﬁﬁmw%
DAl g :

1. =0
T hagH

-~

Y& 3JddRH
4. SiF Fagie

Options :

68634048193. 1
68634048194. 2
68634048195. 3
68634048196. 4

| )
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Question Number : 50 Question Id : 68634012205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Moritella. a bacterium, lives at 10,000 m depth under pressure of 700 - 800 atm in the oceans. The bacterium
1s an example -

1. Thermophile
2. Mesophile
3. Piezophile

4. Xerophile

Options :

68634048197. 1
68634048198. 2
68634048199. 3
68634048200. 4

Question Number : 50 Question Id : 68634012205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHaTo] e e PRI H 700-800 TCHRGIIR &1§ & 419 10,000 Hex 6<% § I5d1 ¢ | 98 oiar]

EEC AR
1. YABIEd
4, SRIBEA
Options :
68634048197. 1
68634048198. 2

68634048199. 3
68634048200. 4

| )

[#5]

Question Number : 51 Question Id : 68634012206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Protoplasts cannot take up DNA and are not capable of regenerating whole plants.

Reason R : Plant cells are encased in a thick cell wall made of cellulose that poses a barrier to efficient gene
transfer.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R i1s the correct explanation of A

-2

. Both A and R are true but R is not the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634048201. 1
68634048202. 2
68634048203. 3
68634048204. 4

Question Number : 51 Question Id : 68634012206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i &l P AT TN 6. U Sy (A) SR SRU (R) UL & |
HUHYT A : MeTaRed S, T, T. 781 & @d § 3R X 9 B I7: Ioqd B3 § &M g

BRUIR : UTEY PIRPIU Hegalel 4 a1 g3 T HIet SIRIe] {3 1 ¥gd © ol TRedl 9 il IR0
1T S Bl B

Suded BuF F 3fale 1, A9 AU 1 fasedl § ¥ 981 3R &1 999 S :
1. A SR R 3 981 8 AR R. A P Hel oURaAT 8
2. A SIR R G U8l § 3R R. A DI Hel e 6l &
LATEI S APIR TS
4, ATIGI § WP R TEI B

Options :

68634048201. 1
68634048202. 2
68634048203. 3
68634048204. 4

Question Number : 52 Question Id : 68634012207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Plant roots are surrounded by microorganisms as part of soil-plant-microbe ecosystem which
can be termed as the rhizosphere.

Statement II : Root exudates have no effect on Rhizosphere ecology.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[

. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634048205. 1
68634048206. 2
68634048207. 3
68634048208. 4

Question Number : 52 Question Id : 68634012207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁ’iﬁﬁqm%

PUTI: E@éwwq&ﬂﬁﬂaqﬁ@%ﬁﬁaﬁﬁﬁﬁﬁﬂmﬁﬂﬁﬁﬁﬁﬁ?ﬂ%ﬁ%?ﬁ THRR
FEI A B

BUT 1L ol & 1.0 ST Age B 1R &1 gRfRUAET )R Sig yHTe T8l gar g
Sudad HuF $ 3fale 4, -9 AU 1 faee & ¥ 9aY 309 3R &1 994 HITot:

1. B 1 RIS el §

2 BYF 1 AR I SH Tad &
3. YT Il 8. AP HYT 1 Tad §

4. BYF 17T0d . AfpT PUT I Tl &

Options :

68634048205. 1
68634048206. 2
68634048207. 3
68634048208. 4

Question Number : 53 Question Id : 68634012208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Cloning with lambda replacement vectors involves the following steps. Arrange them from first to last, in the
order they are performed.

A. Packaging of DNA to form viable phage particles

B. Using DNA ligase to connect lambda fragments to foreign DNA
C. Isolating vector DNA from phage particles

D. Infecting E-coli cells. with recombinant phage

E. Cutting vector DNA with suitable restriction enzyme

Choose the correct answer from the options given below :
1A, C, B, E,D
2.D,.C.EBA
3B AERD
4.C,B,B,AD

Options :

68634048209. 1
68634048210. 2
68634048211. 3
68634048212. 4

Question Number : 53 Question Id : 68634012208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CITSST YaTdaH (WIdRITH) TiER & a1y uiaeid i @it o Hafiiad eed il §1 836
eaTe & SITUR W 3% W U Sifdy @ wH H aafold ST -

A T GBI HIOI131 & R0 §q SIUAUT @ Ul

B. CIes1 ©UI &I SIUT AI5ie B SHIHTe $Id e DNA I Sigl
C. Gl SIUAU & Ul HIUBI3M § gy Bl

D. g ISl B 5-Bldlg I HehHU]

E. 39gdd ufdey UigH 9 9=l ST &l bre-

i feu 0 f[daredl § U Oel 3R &1 90+ DIl ;

1.LAC.B.E.D

2.D,C.E,B.A

3B ACED

4. C.E.B.A.D
Options :

68634048209. 1
68634048210. 2



68634048211. 3
68634048212. 4

Question Number : 54 Question Id : 68634012209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s true for restriction enymes (RE).

A. RE belong to the class of nucleases.

B. Each RE cuts DNA at specific points.

C. Exonucleases remove nucleotides within the DNA while Endonucleases remove nucleotides from the end
of DNA.

D. When cut with same RE. resultant DNA fragments have the same kind of 'sticky ends'.

E. Each RE recognizes a specific palindrome in the DNA.

Choose the most appropriate answer from the options given below :

1.A.C.D & E only
2.B.C.D & E only
3.A.B.D & E only
4.B.D & E only

Options :

68634048213. 1

68634048214. 2

68634048215.3
68634048216. 4

Question Number : 54 Question Id : 68634012209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfaae TosH (3R 5) & ey & Mufafea A 3 s S Sy 98l e

A 3RS, YfFRS i H1 8|

B. W@ 3R 5. | ST $I ARY o8 R FIeai ol

c.Eﬁ-ﬁ{%ﬂﬁ@@ngﬂ-ﬂmmﬁwmasﬁwm%m& USIgfwids Sty & B8R °
EaRHEGIE

D. T% & 3R 5. ¥ P19 W IRumH S U7 U & el & 9HH YoR &1 o eis g gl

E. Ud® AR 5. S TH U ¥ AR Sfersm &1 gg9H @edr g

i< fau Y fdeedl § ¥ 999 Iugad IR &1 99 Hifol:
1. $TAA. C.D 3R E
2. $adB.C.D 3RE
3.%ad A.B.D 3R E
4. PaAB.D ARE

Options :

68634048213. 1
68634048214. 2
68634048215. 3
68634048216. 4

Question Number : 55 Question Id : 68634012210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following plays an important role in breaking the seed dormancy and seed germination?

1. Auxins
2. Ethylene
3. Abscissic acid
4. Gibberellins

Options :

68634048217. 1

68634048218. 2

68634048219. 3
68634048220. 4

Question Number : 55 Question Id : 68634012210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634048217. 1
68634048218. 2

68634048219. 3
68634048220. 4
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Question Number : 56 Question Id : 68634012211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pigments involved in eukaryotic photosynthesis include the chlorophylls and carotenoids, which are
packed in -

1. Stroma

| )

. Thylakoid
3. Lamillae
4. Outer membrane of chloroplast

Options :

68634048221. 1
68634048222. 2
68634048223. 3
68634048224. 4

Question Number : 56 Question Id : 68634012211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048221. 1
68634048222. 2
68634048223. 3
68634048224. 4
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Question Number : 57 Question Id : 68634012212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which of the following bryophytes, the archesporium develops from endothecium ?

1. Riceia

| B

. Pellia
3. Funaria
4. Sphagnum
Options :
68634048225. 1
68634048226. 2

68634048227.3
68634048228. 4

Question Number : 57 Question Id : 68634012212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fgfafad § ¥ fog gmmege ¥ vsiiRmy § srhaifay fGefaa g s?
1. Rfgemar
Ufcerar

AR
4. TpyT
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Options :

68634048225. 1
68634048226. 2
68634048227. 3
68634048228. 4

Question Number : 58 Question Id : 68634012213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The special reproductive feature of Gnetum 1s
1. Presence of diploid female gametophyte
2. Presence of motile flagellated sperms
3. Absence of archegonia
4. Absence of pollen tube
Options :
68634048229. 1
68634048230. 2

68634048231. 3
68634048232. 4

Question Number : 58 Question Id : 68634012213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THIEH (Gnetum) B ARy Uo+ fa=mar s -
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Options :

68634048229. 1
68634048230. 2
68634048231. 3
68634048232. 4

Question Number : 59 Question Id : 68634012214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is true about the sporophyte of Riccia?

1. It has well-developed foot. seta and capsule

[

. It posseses the pseudoclaters
3. It lacks foot seta and claters and embedded in the gametophyte
4. It does not depend on the gametophyte for nutrition and survive independently
Options :
68634048233. 1
68634048234. 2

68634048235. 3
68634048236. 4

Question Number : 59 Question Id : 68634012214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ridwar & deediRRI®Re) & TR # FafiRad § 9 &1 9 Y- 98 82

1. 39Y gldwyd g . Hier 3R e sidl & |

2. THHH T YA (WSIgacy) sl ol
3. S0 UlE, HieT $iR gaer &1 31YTd g1 ¢ SiR 3 gEeiyd] (HcImrge) ¥ ofd: ®A1fUd gid 8|
4. 75 U & o7 gEGIife] (e Plee) TR S 7 §ies wad ¥4 ¥ Siifdd 38d 6|

Options :

68634048233. 1
68634048234. 2
68634048235. 3
68634048236. 4

Question Number : 60 Question Id : 68634012215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the taxonomic categories of wheat in an ascending hierarchial order.

A, Monocotyledonae
B. Angiospermae

C. Poaceae

D. Poales

E. Triticum

Choose the correct answer from the options given below :

1LABCDE

b2

E.D,C.,B.A
3. EEC.D.A.B
4 A CD.B.E

Options :

68634048237. 1
68634048238. 2
68634048239. 3
68634048240. 4

Question Number : 60 Question Id : 68634012215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g & aftfe! AR &1 390 IGHEHH & SRIG! hH H sFaRyd SHIfo ;
A, TPl
B. Uforgr we

C. gt
D. UieH

E. fedian
i fau 7TE fawedl © 9 TEl 3T &1 999 DI ;

1LABCDE

-2

CE DL COB A
3.)EEC.D.A.B
4.A,C,D.B,E

Options :

68634048237. 1
68634048238. 2
68634048239. 3
68634048240. 4



Question Number : 61 Question Id : 68634012216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Lichens are symbiotic association between algae and fungi

Reason R : The algal component in the lichens is known as phycobiont and the fungal component 1s known as
mycobiont

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

2

. Both A and R are true but R is not the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634048241. 1
68634048242. 2
68634048243. 3
68634048244. 4

Question Number : 61 Question Id : 68634012216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= S Py fRu MU B, U @Y= (A) 3R @R (R) G MU |
HYFHYT A . TEH YaTd 3R HdP Jgoldl T eld 6l

PRUIR : TP 4 Y 9ed AT (phycobion) & &9 B 3R Ha® U HADI (mycobiont) B &Y
EIEEIE]

Sudad B $ 3faie 4, -1 fGU 1 fased & 9 981 3R &1 999 S
1. A SRR &I 98l § SIRR. A D! Ugl ARHA &
2. A SR R I Wl € SIR R, A T Ot o 7T ©
LATE S ARPIR AT

4 ATOdE ABTR GG ®

Options :

68634048241. 1
68634048242. 2
68634048243. 3
68634048244. 4



Question Number : 62 Question Id : 68634012217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : In the course of respiration, the three carbon pyruvate molecules are broken down within the
mitochondrion to two carbon acetyl groups.

Statement II : The Kreb's cycle begins with acetyl CoA and each acetyl group is oxidized in a series of
reactions to yield two additional molecules of CO,. one molecule of ATP. three molecules of NADH and one

molecule of FADH,.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement [ and Statement II are incorrect
3. Statement I 15 correct but Statement IT 1s incorrect

4, Statement [ is incorrect but Statement II is correct
Options :
68634048245. 1
68634048246. 2

68634048247. 3
68634048248. 4

Question Number : 62 Question Id : 68634012217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FufRumug.

DY : YR [N (respiration) B &R, IF Dla- Ugwde U] HISCldbi-5aT & HIdR &l ST URiegd &
=UH e A Gl

DY I1 : shd g URICIT CoA T 3RY BT & 3R & U U THE & HTRISH0 &1 Uss JearTa Hfifear ¥
C0, & &l HfaNad 3], ATP &1 UH HU. NADH & I U] 3R FADH, &1 UH 0] §d & |

SWRIdd HYHl & UPTI H {30 T fddedl & el 3R &1 99 Sifory
1. YT 1 AR BY 11 41 el 2

U 1 3R YT 1 ST T B

DY el © clich Y I17Te1d &

4, YT 1T § b DY 11 eI &

b2

Laa

Options :

68634048245. 1
68634048246. 2
68634048247. 3



68634048248. 4

Question Number : 63 Question Id : 68634012218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Extremophiles) (Locations)
Halophvtes 1. |Polar ice

Thermophiles | I |5alt Lakes
Alkalinophiles | II1. |Soda Lakes
Crvophiles IV. |Hot Spring

T REE

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| ]

A-IL B-IV, C-I1II, D-1
3. A-III, B-1I, C-1. D-IV
4. A-IV, B-11I. C-I1, D-I

Options :

68634048249. 1
68634048250. 2
68634048251. 3
68634048252. 4

Question Number : 63 Question Id : 68634012218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I a1
(ﬁ% (srareufa)
. EamEe 1 s
YA il EREIG
e ioHIhTIS | 11 [FisT 3id
. [PHAmEE IV, [&91 Id ([
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1. A-I. B-II. C-III. D-IV

=l Nol o=l =

2. A-IL B-IV, C-111, D-I
3. A-IIL B-1I. C-1. D-IV
4. A-IV. B-11I. C-I1, D-I

Options :

68634048249. 1
68634048250. 2
68634048251. 3
68634048252. 4

Question Number : 64 Question Id : 68634012219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following free species are mainly found m the evergreen forest of Western Ghats?

1. Terminalia sp
2. Lagerstraoemia sp
3. Dipterocarpus sp
4. Pinus sp

Options :

68634048253. 1

68634048254. 2

68634048255. 3
68634048256. 4

Question Number : 64 Question Id : 68634012219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048253. 1
68634048254. 2
68634048255. 3
68634048256. 4

Question Number : 65 Question Id : 68634012220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The type-I survivorship curve mndicated by low mortality during most part of organism’s life and heavy
mortality when the members reach the age of senescence is shown by -

1. Rodents

2. Insects

3. Birds

4. Humans
Options :
68634048257. 1
68634048258. 2

68634048259. 3
68634048260. 4

Question Number : 65 Question Id : 68634012220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eTgU-1 ITRIGIIdl deh U Gild o wila & SHUHIR Srardiy 4 HH goar SR old a8 geidl Sfae] &l
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Options :

68634048257. 1
68634048258. 2
68634048259. 3
68634048260. 4

Question Number : 66 Question Id : 68634012221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following trophic levels in ascending order in a decomposer food chain

A. Fungi

B. Dead Grass

C. Predatory Mite
D. Collembola

Choose the correct answer from the options given below :
Lot R D
2.D.C.B.A
3.B.A.D.C
4. C.D.AB

Options :

68634048261. 1
68634048262. 2
68634048263. 3
68634048264. 4

Question Number : 66 Question Id : 68634012221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3quce @rel Jga # FAafefad didl @l &1 9-d 9gd HH § Iaiud SIfau -

A Hadh
B. Jd qui
. Hefl dias
D. i

Ty

i fau 70 f[daredl § ¥ Uel 3R &1 904 DIl

1.AB.C.D

| ]

D, C.B,A

3.B.A.D.C

4. C.D.A.B



Options :

68634048261. 1
68634048262. 2
68634048263. 3
68634048264. 4

Question Number : 67 Question Id : 68634012222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following species of primates are restricted to the Western Ghats of India?

A Nilgiri Langur

B. Lion Tailed Macaque
C. Golden Langur

D. Hoolock Gibbon

E. Hanuman Langur

Choose the correct answer from the options given below :

1. Aand C only

[ )

.Band D only
3. Aand B only
4.D and E only

Options :

68634048265. 1
68634048266. 2
68634048267. 3
68634048268. 4

Question Number : 67 Question Id : 68634012222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- TR
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)

3.
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Options :

68634048265. 1
68634048266. 2
68634048267. 3
68634048268. 4

Question Number : 68 Question Id : 68634012223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : The poison dart frogs of the tropical rain forests of South America are brightly coloured.

Reason R : Native people in South America use the toxin on blowgun darts.

In the light of the above statements. choose the correct answer from the options given below :

1

| ]

4.

. Both A and R are true and R 1s the correct explanation of A
. Both A and R are true but R is not the correct explanation of A

. A 1s true but R 1s false

A s false but R is true

Options :

68634048269. 1
68634048270. 2
68634048271. 3
68634048272. 4

Question Number : 68 Question Id : 68634012223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634048269. 1
68634048270. 2
68634048271. 3
68634048272. 4

Question Number : 69 Question Id : 68634012224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
(Plant Derived Substance) (Original Source)
A Morphine I |Taxus brevifolia
B. |Quinine 1L ldrremisia anmua
C. |Artemisinin 1M1 |Chinchona ledgeriand
D. |Taxol IV. |Papover somniferum

Choose the correct answer from the options given below:

1.

4

3

4.

A-l, B-1I. C-III. D-IV

CA-IL B-III, C-II. D-IV

AL B-I1. C-1, D-IV

A-TV. B-1I1I, C-II. D-1

Options :

68634048273. 1
68634048274. 2
68634048275. 3
68634048276. 4



Question Number : 69 Question Id : 68634012224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

mm#%mih g;i%

A A 1. [comy sifawifem
B. [BH 11 [T R U3
C. [enfemtEe 111 [T deiaH
D. [edaid IV, [aT9iaR IidiHd

FfaiRad foseal § O 98! SR & 904 DI

1. ALBIL C-HE DIV
2. A-1, B-III, C-II, D-IV
3. A-II, B-I11, C-I, D-IV
4. A-IV. B-III. C-II. D-I

Options :

68634048273. 1

68634048274. 2

68634048275. 3
68634048276. 4

Question Number : 70 Question Id : 68634012225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following combinations make spinal nerves i vertebrates.

1. One pair of ventral roots

[ )

. One pair of dorsal roots
3. One roots each of dorsal and ventral nerve

4. Two dorsal and one ventral nerve root

Options :

68634048277. 1
68634048278. 2
68634048279. 3
68634048280. 4

Question Number : 70 Question Id : 68634012225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHH! oifal # FEfiRed 3 9 5% gm 3 Ovaus die &1 fHafu g s:
MR A B TS TH

WA PIUD gH
g8 3R 3R AT 1 U0 gd

a—y

[ ]

L]

&I g8 3R U 31eR dfAe] gd

=S

Options :

68634048277. 1
68634048278. 2
68634048279. 3
68634048280. 4

Question Number : 71 Question Id : 68634012226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An inherited disease in which very few healthy red blood cells are formed and those formed are thin and
extremely fragile, is known as

1. Sickle cell anemia

| B

. Thalassemia
3. Leukemia
4. Septicemia

Options :

68634048281. 1
68634048282. 2
68634048283. 3
68634048284. 4

Question Number : 71 Question Id : 68634012226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634048281. 1
68634048282, 2

68634048283. 3
68634048284. 4

[

L]

Question Number : 72 Question Id : 68634012227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During respiration, most of the Carbon dioxide in the blood is carried in the form of -

1. Carbon dioxide

b2

. Carbon monoxide
3. Carbonic acid
4. Bicarbonate
Options :
68634048285. 1
68634048286. 2

68634048287. 3
68634048288. 4

Question Number : 72 Question Id : 68634012227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT T SR G0 B SIS Fe- SHeaEs g U d afed siar s :
1. BIETSHAHFES

-

2. PIETHAIH TS S
3. PEHD A
4. G5 FET

Options :




68634048285. 1
68634048286. 2
68634048287. 3
68634048288. 4

Question Number : 73 Question Id : 68634012228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : In the animal cell culture media phenol red 15 added. which gives the media a light pink colour.
Statement II : Phenol red is an essential nutritional supplement for the cells.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634048289. 1
68634048290. 2
68634048291. 3
68634048292. 4

Question Number : 73 Question Id : 68634012228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048289. 1
68634048290. 2
68634048291. 3
68634048292. 4

Question Number : 74 Question Id : 68634012229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cancers of the body's soft tissues are called -

1. Carcinoma

[ ]

. Adenocarcinoma

L]

. Melonoma

4, Sarcoma

Options :

68634048293. 1
68634048294 2
68634048295. 3
68634048296. 4

Question Number : 74 Question Id : 68634012229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048293. 1
68634048294 2
68634048295. 3
68634048296. 4
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Question Number : 75 Question Id : 68634012230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following groups of the animals can be considered endothermal?

1. Anamniota

[ )

. All vertebrates
3. All Invertebrates

4. Amniota
Options :
68634048297. 1
68634048298. 2

68634048299. 3
68634048300. 4

Question Number : 75 Question Id : 68634012230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el & g Fg &l SR OHl &1dl § -
1. Tagtafer
i PRTHI SIG
3l BRI
4. TH3{TeT

| ]

[#5]

Options :
68634048297. 1



68634048298. 2
68634048299. 3
68634048300. 4

Question Number : 76 Question Id : 68634012231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Tsype of Molecule) (Description)
A |Carbohydrate | 1. |Chain of nucleotides
B. [Phospholipid | II. |One or more sugar units
C. [DNA 11 |Chain of amino acids
D. |Protein IV, |Glvcerol, fatty acids, phosphate]

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

[ ]

. A-IV. B-II, C-I, D-III
3. A-L B-IIL. C-IV. D-IT
4. A-IL. B-IV, C-1. D-III

Options :

68634048301. 1
68634048302. 2
68634048303. 3
68634048304. 4

Question Number : 76 Question Id : 68634012231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-1. C-IV, D-III

o|o]w]F

2. A-IV, B-11, C-1. D-III
3. A-L B-III. C-IV. D-II
4. A-I1. B-IV. C-1. D-III

Options :

68634048301. 1
68634048302. 2
68634048303. 3
68634048304. 4

Question Number : 77 Question Id : 68634012232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Viruses consist of a core of nucleic acid (DNA or RNA) surrounded by a protein coat, called
capsid.

Statement IT : In Human Immunodeficiency virus (HIV) there is an additional external envelop or membrane
made of lipids and proteins.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false

4. Statement I 15 false but Statement II is true

Options :

68634048305. 1
68634048306. 2
68634048307. 3
68634048308. 4

Question Number : 77 Question Id : 68634012232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634048305. 1
68634048306. 2
68634048307. 3
68634048308. 4

Question Number : 78 Question Id : 68634012233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in decreasing order of land area.

A Africa

B. Asia

C. Europe

D. North and Central America
E. Oceania

Choose the correct answer from the options given below :

1.C>D>=A>E>B

b2

L AB>C>D>E
3JB>E>C>D>A
4 B=A=C>=D=>E
Options :

68634048309. 1
68634048310. 2



68634048311. 3
68634048312. 4

Question Number : 78 Question Id : 68634012233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiiad o Y-&Atd & YR W 3ale] B H oudRYd HIfa -

A WBIHT
B. USmI

C. g4
D. 3! 3R 7 mRaT
E. 3nfaufaar

=i fu 10 f[daredl § ¥ Uel 3R &1 904 DIl ; |

1.C>D>A>E>B

[ ]

AB>C>D>E
3 B>E>C>D>A
4 B=A=>C>=D=>E

Options :

68634048309. 1
68634048310. 2
68634048311. 3
68634048312. 4

Question Number : 79 Question Id : 68634012234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following states in India is known for conservation of Rhododendun?

1. Arunachal Pradesh
2. Manipur
3. Meghalaya
4. Sikkim

Options :

68634048313. 1

68634048314. 2

68634048315. 3
68634048316. 4

Question Number : 79 Question Id : 68634012234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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1. 20T WalT

2. TR
3. HUTag
4. fofden

Options :

68634048313. 1
68634048314. 2
68634048315. 3
68634048316. 4

Question Number : 80 Question Id : 68634012235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s produced by the yeast deriven fermentation principally of glucose CgH,,0g/Carbohydrates in

plants,

1. Biodiesel

| ]

. Bio methanol

LFS]

. Bio ethanol

4. Wood alcohol

Options :

68634048317. 1
68634048318. 2
68634048319. 3
68634048320. 4

Question Number : 80 Question Id : 68634012235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048317. 1

68634048318. 2

68634048319. 3
68634048320. 4

Question Number : 81 Question Id : 68634012236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Biosphere Reserve) (State)
Agasthyamalat | 1. [Madhya Pradesh|
Nanda Devi 1L |Odisha

Panchmarhi IT1. |Tamil Nadu
Similipal IV, [Uttarakhand

REE

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-IV, D-II

[ ]

AL B-IV. C-1, D-11
3. A-IL B-IV., C-1, D-III
4, A-II1. B-IV, C-II, D-I

Options :

68634048321. 1
68634048322. 2
68634048323. 3
68634048324. 4

Question Number : 81 Question Id : 68634012236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIT, B-1. C-IV. D-II
2. AL B-IV, C-1, D-II
3. A-IL B-IV.C-I, D-III
4. A-I1, B-IV. C-I1, D-I

Options :

68634048321. 1
68634048322. 2
68634048323. 3
68634048324. 4

Question Number : 82 Question Id : 68634012237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the coal types from highest to lowest rank as per their Carbon content.

A Lignite
B. Sub bitumenous
C. Anthracite

D. Bitumenous
E. Peat

Choose the correct answer from the options given below :

1.C.,DLA B.E

| )

.C.D.B.A.E
3.C,D.B.E.A
4. C,B.D.A.E

Options :

68634048325. 1
68634048326. 2
68634048327. 3
68634048328. 4



Question Number : 82 Question Id : 68634012237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634048325. 1
68634048326. 2

68634048327. 3
68634048328. 4

Question Number : 83 Question Id : 68634012238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about Acid Rain.

1. Acid rain is primauly caused by NO, and SO,

| )

. Acid rain 1s responsible for defacing of monuments
3. Acid rain have no impact on soil fertility
4. Rain water with pH of less than 5-6 is referred as acid rain

Options :

68634048329. 1
68634048330. 2
68634048331. 3
68634048332. 4

Question Number : 83 Question Id : 68634012238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048329. 1
68634048330. 2
68634048331. 3
68634048332. 4

Question Number : 84 Question Id : 68634012239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Los Angeles smog event was a suitable example of photochemical smog.

Statement IT : Photochemical smog formation requires NOx, volatile organic compounds and intense sun
light 1n which peroxy acetyl nitrate 1s one of the byproducts.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II 1s incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634048333. 1
68634048334. 2
68634048335. 3
68634048336. 4

Question Number : 84 Question Id : 68634012239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048333. 1
68634048334. 2
68634048335. 3
68634048336. 4

Question Number : 85 Question Id : 68634012240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are green house gases in ambient atmosphere.

A. Methane

B. Nitrous oxide
C. Sulpher dioxide
D. Carbon dioxide
E. Argon

Choose the correct answer from the options given below:
1. A.B. C and D only
2.A,.B,D and E only
33JAOB.C.Dand E

4. A. B and D only

Options :

68634048337. 1
68634048338. 2
68634048339. 3
68634048340. 4



Question Number : 85 Question Id : 68634012240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048337. 1
68634048338. 2
68634048339. 3
68634048340. 4

Question Number : 86 Question Id : 68634012241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s lebelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Thinning of ozone layer is more prominant over Antartica as compared to Arctic.

Reason R : Stratospheric temperature over arctic does not fall as low and for as long as 1t happens over
Antartica and Polar stratospheric clouds form less frequently over Arctic then over Antartica.

In the light of the above statements, choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct
4. A 13 not correct but R is correct
Options :
68634048341. 1

68634048342. 2
68634048343.3



68634048344. 4

Question Number : 86 Question Id : 68634012241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048341. 1
68634048342. 2
68634048343. 3
68634048344. 4

Question Number : 87 Question Id : 68634012242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are creteria Air pollutants under National Ambient Air Quality standards?

CO
. CO,
Pb
Hg
.50,

MO0 W

Choose the correct answer from the options given below :
1. A. B and D only
2.B and D only
3.A CandE only

4.B.C.D and E only

Options :



68634048345. 1
68634048346. 2
68634048347. 3
68634048348. 4

Question Number : 87 Question Id : 68634012242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048345. 1
68634048346. 2
68634048347. 3
68634048348. 4

Question Number : 88 Question Id : 68634012243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following bacteria are involved in denitrification process.
A. Nitrosomonas
B. Bacillus

C. Pseudomonas
D. Nitrobacter

Choose the correct answer from the options given below :
1. A and B only
2. Aand C only
3. Cand D only

4. B and C only

Options :

68634048349. 1
68634048350. 2
68634048351. 3
68634048352. 4

Question Number : 88 Question Id : 68634012243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHIECIha e Hohd H fHafdRad O U &H 4 ofiar] 9iffad 981 gid 6 -
A, FECHEAY

C. YSHHY
D' EAI ! lﬁ
i feu 0 f[daredl § U Oel 3R &1 90+ DIl ;

1. %ad A IR B
2. %ad AR C
3. %ad C 3D
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Options :

68634048349. 1

68634048350. 2

68634048351. 3
68634048352. 4

Question Number : 89 Question Id : 68634012244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The concept of limiting nutrient based on the ratio between C : N : P in aquatic system works only when-

1. all C, N and P limit the growth of primary producer

[ )

. C and N limit the growth of primary producer
3. N and P limit the growth of primary producer
4. cither one of them (C/N/P) limit the growth of primary producer
Options :
68634048353. 1
68634048354. 2

68634048355.3
68634048356. 4

Question Number : 89 Question Id : 68634012244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048353. 1
68634048354. 2
68634048355. 3
68634048356. 4

Question Number : 90 Question Id : 68634012245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following metal is used in wood preservatives?
1. Mercury
2.Lead
3. Arsenic
4. Selenium

Options :



68634048357. 1
68634048358. 2
68634048359. 3
68634048360. 4

Question Number : 90 Question Id : 68634012245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634048357. 1
68634048358. 2

68634048359. 3
68634048360. 4
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Question Number : 91 Question Id : 68634012246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soils and lands that have shallow water table can develop due to excessive water evaporation and
the concentration of salts.

1. Soil turbidity

| )

. Soil rnigidity
3. Soil salinity
4. Soil acidity

Options :

68634048361. 1
68634048362. 2
68634048363. 3
68634048364. 4

Question Number : 91 Question Id : 68634012246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048361. 1
68634048362. 2
68634048363. 3
68634048364. 4

Question Number : 92 Question Id : 68634012247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Ratio of mass of water vapour and total mass of air (gm of H,0, /kg of air) is referred as
1. Absolute humidity
2. Relative humidity
3. Mixing Ratio
4. Specific humidity
Options :
68634048365. 1
68634048366. 2

68634048367. 3
68634048368. 4

Question Number : 92 Question Id : 68634012247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048365. 1
68634048366. 2
68634048367. 3
68634048368. 4

Question Number : 93 Question Id : 68634012248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following zone in a lake/pond will have the highest biochemical oxygen demand(BOD).
1. Epilimnion
2. Euphotic zone
3. Littoral zone
4. Benthic zone
Options :
68634048369. 1
68634048370. 2

68634048371. 3
68634048372. 4

Question Number : 93 Question Id : 68634012248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048369. 1

68634048370. 2

68634048371. 3
68634048372. 4
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Question Number : 94 Question Id : 68634012249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Catalytic convertors in vehicle are used for -

1. Oxidation of CO and NO

[

. Reduction of CO and NO

L]

. Oxidation of CO and reduction of NO

4. Reduction of CO and oxidation of NO

Options :

68634048373. 1
68634048374. 2
68634048375. 3
68634048376. 4

Question Number : 94 Question Id : 68634012249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048373. 1
68634048374. 2
68634048375. 3
68634048376. 4

| ]

L)

Question Number : 95 Question Id : 68634012250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Noise levels in enviromment are measured in

1. Dobson unit

(B

. Decibel unit
3. Grambel unit
4, Hertz unit
Options :

68634048377. 1
68634048378. 2



68634048379. 3
68634048380. 4

Question Number : 95 Question Id : 68634012250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048377. 1
68634048378. 2
68634048379. 3
68634048380. 4
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Question Number : 96 Question Id : 68634012251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Municipal solid waste is composted in long rows aerated by convective air movement. The proces is called -

1. Static - pile composting

(B

. Windrow composting
3. In-vessel composting
4, Stabilised composting

Options :

68634048381. 1
68634048382. 2
68634048383. 3
68634048384. 4

Question Number : 96 Question Id : 68634012251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048381. 1
68634048382. 2
68634048383. 3
68634048384. 4

Question Number : 97 Question Id : 68634012252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Precision is the degree of agreement among replicate measurements of the same quantity.
Statement II : Good precision of results always guarantee good accuracy.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

68634048385. 1
68634048386. 2
68634048387. 3
68634048388. 4

Question Number : 97 Question Id : 68634012252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048385. 1
68634048386. 2
68634048387. 3
68634048388. 4

Question Number : 98 Question Id : 68634012253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the mecorrect statement about UV-Visible spectrophotometer

1. It follows Beer Lamberts law

| B

. It requires monochromatic source of light
3. It 1s also referred as colourimetric technique
4. It 1s based of absorption of monochromatic light by atoms

Options :

68634048389. 1
68634048390. 2
68634048391. 3
68634048392. 4

Question Number : 98 Question Id : 68634012253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048389. 1
68634048390. 2
68634048391. 3
68634048392. 4

Question Number : 99 Question Id : 68634012254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
{Instrumentation) (Parameter)
Microscope [. |Chemical Assay

Gel Electrophoresis| 1T [Turbadity
Spectrophotometry | III. [Resolution
E adicisotope IV. Moleculer size

REE

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

[ ]

. A-ILL B-II1. C-IV, D-1
3. A-III, B-1V, C-II, D-I
4. A-II1. B-1. C-IV. D-II

Options :

68634048393. 1
68634048394. 2
68634048395. 3
68634048396. 4

Question Number : 99 Question Id : 68634012254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I T 10

i :
g 1. Ramte wiiem
Sid SoaehIRgY| 1. [enfdaan
Eidepiedier |11 [f[ageE
RfeargaifE | 1v [anfias smer

frafafad fawel 5 I 96t S| &1 994 DI -

1. A-II. B-1. C-IV, D-III
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2. A-IL B-III. C-IV, D-I
3. A-IIL B-IV. C-II. D-I
4. A-I1. B-1. C-IV. D-II

Options :

68634048393. 1
68634048394. 2
68634048395. 3
68634048396. 4

Question Number : 100 Question Id : 68634012255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacterial oxidation of pysite (FeS,) results in an environmental concern called

1. Methanogenesis

2. Acetogenesis

3. Sulfidogenesis

4. Acid mine dramage

Options :

68634048397. 1
68634048398. 2
68634048399. 3
68634048400. 4

Question Number : 100 Question Id : 68634012255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634048397. 1
68634048398. 2
68634048399. 3
68634048400. 4




